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SOLUTIONS TO SELECTED PROBLEMS
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1. Area = ma®
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28. (a) UOZVE;Z_?IE;’ (b) r=4R
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15. (a) V(r,z)= a
Vor
l
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27¢

22. V(2,2)=V(3,2)=V(2,3)=V(3,3)=—4.
23. (a) V(2,2)=-1.0000, V(3,2)=-.5000, V(2, 3)
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_ . cosh k(x —d/2)
29. @) H,=Ho— 5o

Io Ji[(r/8)(1—7)]
2ma [1[(a/8)(1-7)]
33. (a) T =—L,I%cos® wot sin 26
34. (C) T=M01112COS 0,

32. (b) Hu(r)=
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9. ) E(x)= we[no sin kd — jn cos kd] 1< —d
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10. (b) E,=Epe e z<0’ﬂ w e 4

11. (a) ¢ —tp = Y(za—121),
Co

(b) ti—tz=vy(th—t), () z2—z1=7L
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12. E— UL, =
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26. (a) L1+ Ly=s;sin @;+s, sin @, = h, tan 6; + hy tan 6,

31. 6,~41.7°

(n*—2)*

33. (a) (%)2>1— V=n=9

aR

b) R'=
®) Vil -a“)Wn'-a’+a?

Chapter 8
Vosin B(z —1) ™%
sin Bl

2. (¢) ¥(z)=— (Short circuited end)

4 (0 o’=02+k%, () vz t)=_%7_mgt
1

wVvVLC

VoZo

2R,

16. (b) tan kl =—XY,

1+v2

v2-1

22. (b) VSWR =2

5. (b) k=

14. (a) Vo=—-V_=

21. (c) VSWR =

=~5.83

23. Z; =170.08—133.29;5

nA
24. (a) [,=.187A +?, l5=.089A +-";—A
1, =.279A +E, lo=.411A +_m_A
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25, (a) ll=166A +%, 12=411A +"_;A"
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L= 0774 +—, [, =.043A +-‘m—l\
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2 2
98. (b) = 2we (bky +aky)
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29. (a) TE mode:

electric field: cos k.x cos ky = const

. k (uh’)i
magnetic field: w)——= const
sin k,y
2 2 2 2
[ mar nr pr
- o (2.
31. (b) c? a b l
ks
32. (a) w?=—"=—
EQL — Eolho
Chapter 9
L (0 V= it
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i o I
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a
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Jow

6. (a) §, =4meoR>E,
AR
127c*
7. (a) mind=21rH0R3
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cos (wt —kr)

8. (b) sin20[
kr

—sin (at — kr)] = const

Y ithr—
9. (a) Eg=~="sin g7 J"2)[cos (ka cos 8 —K)]
Tkr 2
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